

$$f(x) = \begin{cases} c \cdot t \frac{\pi x}{\varepsilon} & ; x < 1 \\ \sqrt{x^2 + 1} & ; x > 1 \end{cases} \quad f \circ f \left(\frac{r}{\mu} \right) = ?$$

$$f \left(f \left(\frac{r}{\mu} \right) \right) \quad \text{if } x = \frac{r}{\mu} \xrightarrow{f(x)} c \cdot t \frac{\pi x}{\varepsilon} = c \cdot t \frac{\pi \frac{r}{\mu}}{r \mu} = c \cdot t \left(\frac{\pi}{r} \right) = 0 \Rightarrow \sqrt{r}$$

$$f(\sqrt{r}) = \sqrt{(\sqrt{r})^2 + 1} = \sqrt{r + 1} = \sqrt{r} = \textcircled{r}$$

$$f \left(\frac{1}{x} \right) = f(x) \quad \text{if } \frac{1}{x} \quad f(x) = \sqrt{\frac{r-x}{x-1}} \quad \text{if } x > 1 \quad g(x) = r \cos^2 x \quad \text{and } f \left(\frac{1}{x} \right) = \sqrt{\frac{r-x}{x-1}} \quad \text{if } x < 1$$

$$f \left(\frac{1}{x} \right) = f(x) \xrightarrow{\text{if } \frac{1}{x}} f(x) = \sqrt{\frac{r-x}{x-1}} = \sqrt{\frac{r-x}{x-1}} \Rightarrow \sqrt{x(r-x)} = f(g(x)) \rightarrow \sqrt{r \cos^2 \left(\frac{\pi}{2} \right)} \left(r - r \cos^2 \left(\frac{\pi}{2} \right) \right)$$

$$f(g(x)) = \left[\frac{x}{1-x} \right] \quad \text{if } x = \sqrt{r} \quad \left[\frac{\sqrt{r}}{1-\sqrt{r}} \right] = \left[\frac{\sqrt{r}}{1-\sqrt{r}} \right] = \left[-\frac{\sqrt{r}}{r} \right] = \textcircled{-r}$$

$$g(f(x)) \quad g(x) = x \sqrt{1-x^2} \quad f(x) = \sin x$$

$$g(f(x)) = \sin x \sqrt{1-\sin^2 x} = \sin x |\cos x| \xrightarrow{\frac{\pi}{2}} \sin \frac{\pi}{2} \cos \frac{\pi}{2} = \sin x \cos x$$

$$\sin x \cos x \xrightarrow{x = \frac{\pi}{2}} \sin \left(\frac{\pi}{2} \right) \times \cos \left(\frac{\pi}{2} \right) = \left(\frac{\sqrt{r}}{r} \right) = \textcircled{\frac{1}{r}}$$

$$g(x) = \{ (\varepsilon, \gamma), (r, f), (\gamma, \lambda), (\lambda, \delta) \} \quad f(x) = \{ (\varepsilon, \delta), (\gamma, \delta), (\lambda, r), (\delta, r) \}$$

$$\text{a) } f \circ g(x) \Rightarrow f(g(x)) = \{ (f, \delta), (r, \delta), (\gamma, r), (\lambda, r) \}$$

$$\text{b) } g \circ f(x) \Rightarrow g(f(x)) = \emptyset$$

$$\text{c) } f \circ f(x) \Rightarrow f(f(x)) = \emptyset$$

$$\text{d) } g \circ g(x) \Rightarrow g(g(x)) = \{ (f, \lambda), (r, \gamma), (\gamma, \delta) \}$$

$$f = \{ (r, \delta), (r, r), (f, \delta), (\delta, \nu) \} \quad g = \{ (\delta, r), (\nu, \delta), (a, \nu), (b, \delta) \}$$

$$(f, r) \in f \circ g \quad (f, \delta) \in g \circ f \quad (a, b) = ?$$

$$f \circ g = f(g(x)) \quad (f, \delta) \in g \circ f \rightarrow g(f(x))$$

$$g(f(x)) \rightarrow g(\delta) = 1$$

$$\text{a) } g(f) = ?$$

$$\text{if } a = r \rightarrow g(r) = \nu \rightarrow f(\nu) = r \rightarrow f \circ g = (f, r) \rightarrow a = r$$

$$\text{if } b = \varepsilon \rightarrow g(\varepsilon) = 1 \rightarrow f(1) = \nu$$

$$(a, b) = (f, \delta) \quad f(f) = \delta$$

$L(f(x)) = kx + r$
 if $f(x) = ax + b$
 $L(f(x)) = a(ax + b) + b = kx + r$
 $a^2x + ab + b = kx + r$
 $a^2 = k \Rightarrow a = \sqrt{k}$
 $rb + b = r$
 $cb = r \Rightarrow b = \frac{r}{c} \Rightarrow f(x) = \sqrt{k}x + \frac{r}{c}$

$g(kx + r) = kx - r$
 $g(x) = cx + d \rightarrow c(kx + r) + d = kx - r$
 $ckx + cr + d = kx - r$
 $ck = k \Rightarrow c = \frac{k}{k} = 1$
 $cr + d = -r \Rightarrow d = -r - cr = -r - r = -2r$
 $g(x) = \frac{k}{1}x - \frac{2r}{1} = kx - 2r$
 $g \circ f(x) = g(f(x)) = g(ax + b) = k(ax + b) - 2r = kax + kb - 2r$
 $g \circ f(x) = \frac{k}{1}x - \frac{2r}{1} = kx - 2r$

$f(x) = \sqrt{x+1}$ $g(x) = \frac{1}{x-1}$ $D_{g \circ f} = ?$
 $g \circ f = g(f(x))$
 $x \in D_f \rightarrow \sqrt{x+1} \in D_g \rightarrow [0, +\infty) \cap D_g$
 $f(x) \in D_g$
 $\sqrt{x+1} \neq 0 \rightarrow x+1 \neq 0 \rightarrow x \neq -1$
 $D_{g \circ f} = (0, +\infty) - \{-1\}$

$f(x) = \sqrt{1-x^2}$ $g(x) = \sqrt{x}$ $D_{(f+g) \circ f}$
 $(f+g) \circ f \rightarrow f \circ f(x) + g \circ f(x) =$
 $f \circ f(x) \rightarrow x \in D_f \rightarrow 1-x^2 \in D_f \rightarrow -1 \leq 1-x^2 \leq 1$
 $f(x) \in D_f \rightarrow 1-x^2 \in D_f \rightarrow -1 \leq 1-x^2 \leq 1$
 $g \circ f(x) \rightarrow x \in D_f \rightarrow -1 \leq x \leq 1$
 $f(x) \in D_g \rightarrow \sqrt{1-x^2} \in D_g \rightarrow 1-x^2 \geq 0 \rightarrow -1 \leq x \leq 1$
 $D_{(f+g) \circ f} \rightarrow [-1, 1]$

if $f\left(\frac{kx+1}{x-r}\right) = kx+d$ $\frac{kx+1}{x-r} = t \Rightarrow kx+1 = t(x-r) \Rightarrow kx - tx = -rt - 1 \Rightarrow x = \frac{-rt-1}{k-t}$
 $f(t) = f\left(\frac{-rt-1}{k-t}\right) + d = \frac{-1t - t}{k-t} + d = \frac{-1t - t + d(k-t)}{k-t} = \frac{-1t - t + dk - dt}{k-t} = \frac{-1t - t + dk - dt}{k-t}$
 $\rightarrow f\left(x + \frac{1}{x}\right) = x^k + \frac{1}{x^c}$
 $x + \frac{1}{x} = t \rightarrow \left(x + \frac{1}{x}\right)^k = x^k + \frac{k}{x} + \frac{1}{x^k} \Rightarrow x^k + \frac{1}{x^k} = \left(x + \frac{1}{x}\right)^k - \frac{k}{x}$
 $x^k + \frac{1}{x^k} = \left(x + \frac{1}{x}\right)^k - c \left(\frac{1}{x}\right) \Rightarrow f(t) = t^k - ct \Rightarrow f(x) = x^k - cx$

$f(x) = x\sqrt{x}$ $g \circ f(x) \rightarrow$ انقالب طول ناقص
 $g \circ f(x) = g(f(x)) \rightarrow \sqrt{x\sqrt{x}} = x^{3/4}$
 if $g(f(x)) = f(x) = 1 \Rightarrow g(f(x)) = 0 \rightarrow$ if $f(x) = 1 \Rightarrow x\sqrt{x} = 1 \Rightarrow x = 1$
 if $g(f(x)) = f(x) = \sqrt{r} \Rightarrow g(f(x)) = 0 \rightarrow$ if $f(x) = \sqrt{r} \Rightarrow x\sqrt{x} = \sqrt{r} \Rightarrow x = r$
 $r-1 = 1$